

1
ABCDE ひき算をしましょう。

例 $\frac{3}{8} - \frac{1}{4} = \frac{3}{8} - \frac{2}{8} = \frac{1}{8}$

(1) $\frac{3}{4} - \frac{3}{8} = \frac{6}{8} - \frac{3}{8} = \frac{3}{8}$

(2) $\frac{4}{5} - \frac{2}{3} = \frac{12}{15} - \frac{10}{15} = \frac{2}{15}$

(3) $\frac{2}{3} - \frac{1}{4} = \frac{8}{12} - \frac{3}{12} = \frac{5}{12}$

(4) $\frac{5}{6} - \frac{3}{8} = \frac{20}{24} - \frac{9}{24} = \frac{11}{24}$

(5) $\frac{3}{4} - \frac{3}{10} = \frac{15}{20} - \frac{6}{20} = \frac{9}{20}$

(6) $\frac{7}{12} - \frac{1}{9} = \frac{21}{36} - \frac{4}{36} = \frac{17}{36}$

(7) $\frac{3}{4} - \frac{5}{14} = \frac{21}{28} - \frac{10}{28} = \frac{11}{28}$

2

ABCDE

ひき算をしましょう。

例

$$\frac{1}{2} - \frac{1}{10} = \frac{5}{10} - \frac{1}{10} = \frac{4}{10} = \frac{2}{5}$$

$$(1) \quad \frac{2}{3} - \frac{1}{6} = \frac{4}{6} - \frac{1}{6} = \frac{3}{6} = \frac{1}{2}$$

$$(2) \quad \frac{1}{2} - \frac{3}{10} = \frac{5}{10} - \frac{3}{10} = \frac{2}{10} = \frac{1}{5}$$

$$(3) \quad 1 - \frac{1}{3} - \frac{7}{12} = 1 - \frac{4}{12} - \frac{7}{12} = \frac{16}{12} - \frac{7}{12} = \frac{9}{12} = \frac{3}{4}$$

$$(4) \quad \frac{5}{6} - \frac{1}{10} = \frac{25}{30} - \frac{3}{30} = \frac{22}{30} = \frac{11}{15}$$

$$(5) \quad 1 - \frac{1}{4} - \frac{5}{12} = 1 - \frac{3}{12} - \frac{5}{12} = \frac{15}{12} - \frac{5}{12} = \frac{10}{12} = \frac{5}{6}$$

$$(6) \quad \frac{11}{12} - \frac{2}{3} = \frac{11}{12} - \frac{8}{12} = \frac{3}{12} = \frac{1}{4}$$

$$(7) \quad 1 - \frac{1}{6} - \frac{2}{3} = 1 - \frac{1}{6} - \frac{4}{6} = \frac{7}{6} - \frac{4}{6} = \frac{3}{6} = \frac{1}{2}$$

3

ABCDE

ひき算をしましょう。

例

$$\frac{5}{6} - \frac{1}{3} - \frac{3}{10} = \frac{25}{30} - \frac{10}{30} - \frac{9}{30} = \frac{6}{30} = \frac{1}{5}$$

$$(1) \quad \frac{1}{2} - \frac{1}{3} - \frac{1}{7} = \frac{21}{42} - \frac{14}{42} - \frac{6}{42} = \frac{1}{42}$$

$$(2) \quad \frac{1}{2} - \frac{1}{5} - \frac{1}{7} = \frac{35}{70} - \frac{14}{70} - \frac{10}{70} = \frac{11}{70}$$

$$(3) \quad \frac{2}{3} - \frac{1}{5} - \frac{1}{4} = \frac{40}{60} - \frac{12}{60} - \frac{15}{60} = \frac{13}{60}$$

$$(4) \quad 1 - \frac{3}{4} - \frac{5}{6} - \frac{1}{2} = 1 - \frac{9}{12} - \frac{10}{12} - \frac{6}{12} = \frac{21}{12} - \frac{10}{12} - \frac{6}{12} = \frac{5}{12}$$

$$(5) \quad 1 - \frac{1}{2} - \frac{2}{5} - \frac{3}{8} = 1 - \frac{20}{40} - \frac{16}{40} - \frac{15}{40} = \frac{60}{40} - \frac{16}{40} - \frac{15}{40} = \frac{29}{40}$$

$$(6) \quad 1 - \frac{3}{8} - \frac{5}{6} - \frac{1}{3} = 1 - \frac{9}{24} - \frac{20}{24} - \frac{8}{24} = \frac{33}{24} - \frac{20}{24} - \frac{8}{24} = \frac{5}{24}$$

$$(7) \quad 1 - \frac{1}{5} - \frac{1}{3} - \frac{4}{15} = 1 - \frac{3}{15} - \frac{5}{15} - \frac{4}{15} = \frac{18}{15} - \frac{5}{15} - \frac{4}{15} = \frac{9}{15} = \frac{3}{5}$$

4

ABCDE

計算をしましょう。

例

$$\frac{3}{4} - \frac{4}{9} + \frac{1}{6} = \frac{27}{36} - \frac{16}{36} + \frac{6}{36} = \frac{17}{36}$$

$$(1) \quad \frac{5}{6} - \frac{1}{2} + \frac{3}{8} = \frac{20}{24} - \frac{12}{24} + \frac{9}{24} = \frac{17}{24}$$

$$(2) \quad \frac{1}{3} - \frac{1}{6} + \frac{1}{7} = \frac{14}{42} - \frac{7}{42} + \frac{6}{42} = \frac{13}{42}$$

$$(3) \quad \frac{8}{9} + \frac{1}{4} - \frac{2}{3} = \frac{32}{36} + \frac{9}{36} - \frac{24}{36} = \frac{17}{36}$$

$$(4) \quad \frac{6}{7} + \frac{1}{4} - \frac{1}{6} = \frac{72}{84} + \frac{21}{84} - \frac{14}{84} = \frac{79}{84}$$

$$(5) \quad \frac{7}{8} - \frac{2}{3} + \frac{1}{6} = \frac{21}{24} - \frac{16}{24} + \frac{4}{24} = \frac{9}{24} = \frac{3}{8}$$

$$(6) \quad \frac{1}{3} + \frac{3}{4} - \frac{5}{6} = \frac{4}{12} + \frac{9}{12} - \frac{10}{12} = \frac{3}{12} = \frac{1}{4}$$

$$(7) \quad \frac{3}{8} - \frac{1}{3} + \frac{5}{6} = \frac{9}{24} - \frac{8}{24} + \frac{20}{24} = \frac{21}{24} = \frac{7}{8}$$

5

ABCDE

ひき算をしましょう。

例

$$4\frac{5}{12} - 1\frac{3}{8} = 4\frac{10}{24} - 1\frac{9}{24} = 3\frac{1}{24}$$

$$3\frac{1}{3} - 1\frac{2}{5} = 3\frac{5}{15} - 1\frac{6}{15} = 2\frac{20}{15} - 1\frac{6}{15} = 1\frac{14}{15}$$

$$(1) \quad 2\frac{7}{9} - \frac{5}{12} = \mathbf{2\frac{28}{36} - \frac{15}{36} = 2\frac{13}{36}}$$

$$(2) \quad 3\frac{5}{6} - 2\frac{3}{4} = \mathbf{3\frac{10}{12} - 2\frac{9}{12} = 1\frac{1}{12}}$$

$$(3) \quad 2\frac{3}{10} - 1\frac{3}{4} = \mathbf{2\frac{6}{20} - 1\frac{15}{20} = 1\frac{26}{20} - 1\frac{15}{20} = \frac{11}{20}}$$

$$(4) \quad 2\frac{1}{4} - 1\frac{5}{6} = \mathbf{2\frac{3}{12} - 1\frac{10}{12} = 1\frac{15}{12} - 1\frac{10}{12} = \frac{5}{12}}$$

$$(5) \quad 4\frac{1}{6} - 1\frac{7}{10} = \mathbf{4\frac{5}{30} - 1\frac{21}{30} = 3\frac{35}{30} - 1\frac{21}{30} = 2\frac{14}{30} = 2\frac{7}{15}}$$

$$(6) \quad 5\frac{1}{6} - 2\frac{5}{14} = \mathbf{5\frac{7}{42} - 2\frac{15}{42} = 4\frac{49}{42} - 2\frac{15}{42} = 2\frac{34}{42} = 2\frac{17}{21}}$$